B3k EITERIHEHE BRG], Fi (3R A0 —&K

B T F 4 HEREEI B B % £*8 ISERAHG | 15~~645% | 655ELI L
Ha S 20,779 65,826 32,658 33,168 12,550 47,241 6,035
" & Ry 538 1,627 822 805 466 1,091 70
i =1 By 63 233 114 119 28 148 57
x & R H 210 666 317 349 142 447 77
X KX F 670 2,273 1,122 1,151 352 1,666 955
N 13 BT 1,429 4,866 2,427 2,439 1,079 3,463 324
X =1 i 157 550 275 275 73 422 55
3 FH By 63 210 104 106 25 164 21
i’ = BT 1,300 4,602 2,261 2,341 970 3,209 423
IN i AT 21 90 48 42 21 55 14
& = BT 411 1,228 594 634 384 804 40
X B F 112 372 187 185 54 269 49
= 3 B 1) 911 2,560 1,240 1,320 474 1,881 205
XK M H 54 217 105 112 38 139 40
N & RO 64 201 104 97 32 140 29
W & & B 833 2,777 1,408 1,369 741 1,880 156
T KX f1 H H 173 697 354 343 107 453 137
X B B W 373 1,206 611 595 182 924 100
=3 H 1) 1,001 2,761 1,343 1,418 374 1,871 516
5 B F 841 2,764 1,368 1,396 458 2,095 211
-+ & 1} 2,831 8,918 4,437 4,481 1,331 6,741 846
=] i} 1] 51 175 80 95 22 127 26
W [i] 1) 61 209 99 110 22 161 26
3 1] BOE 71 233 124 109 36 177 20
¥ i 1] 336 1,095 503 592 185 704 206
F it i1} 594 1,916 961 955 253 1,438 225
& W B 719 2,257 1,149 1,108 506 1,593 158
b)) H 1) 626 1,404 664 740 179 1,048 177
% M B 1 T H 2,308 7,142 3,494 3,648 1,576 5,046 520
2 W HE 2 T H 2,303 7,160 3,650 3,510 1,195 5,303 662
 H BT 3 T H 397 1,223 624 599 181 942 100
B & %£ 277 974 472 502 301 651 22
® = Y 69 263 129 134 36| 185 "42
A - S S 1] 917 2,957 1,468 1,489 727 2,004 226
X®H & 1 T H 0 0 0 0 0 0 0
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